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ek SHOW ALL WORK TO RECEIVE CREDIT****

1. (6 Pts) Complete and balance each of the following reactions:

a. 3Ca(OH), + A HPOs > GH, O -+ CQS (P O‘t/\) 2

b, 3HCHCOO + AlOH; — 34,0 + Al (CH;C00)4
- Hy, 09 + CO4 (5
c. NaHCO; + HNOsaq) — Ma MO4 + Hy D& ~Ya

2. (4 Pts) In the following reaction, identify the acid, base, conjugate acid, and the conjugate base.

RbOH + H3PO4 — Hzo + RbH2P04
Base ACIJ Cbn;}_/{u& Coro. ba@z

3. (8 Pts) Determine the [H'], [OH], pH and the pOH of each of the following:

a. 25 mL of 0.040 M HBr solution. 'DOH: /9\62

e o3
[#t] = 0.040M; pH= 1, ﬁla Jorj = oo‘- = L. 500

b. 50.0 mL of 0.035 M Ba(OH); solution.

E)/fj: O.0/0M; ?GH: /,f"_fg: [/f M-/ Y2x50 - 12 3 PH-, /2. g)::’

4. (7 Pts) Determine the pH of a solution formed by combining 35.00 mL of 0.022 M Ba(OH); solution
with 35.00 mL of 0.025 M HCI. P
Ba OM), +JHCQE —> QMo + Bald, + X2 - )

pe} I’Ohl'c,f OH\- _'L‘f — Hl (gi'{oy\ﬁ dcw{ + Sfl"cm
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